
ROJONE Pty. Ltd – 44 Aero Rd, Ingleburn NSW 2565  AUSTRALIA
TEL +61 02 9829 1555  FAX +61 02 9605 8812     EMAIL sales@rojone.com.au    www.rojone.com.au

Page 1 of 1
Rev: 01  Date: 08/06/2012

High Gain Directional Panel Antenna  
for 2.4 ISM Band 
(Model: SA2-05009-NO)

Specifications	

Electrical Specifications

Frequency Range 2300-2500 MHz

Gain 12 dBi
VSWR 1.5:1 max
Polarisation Linear, vertical
HPBW / horizontal 50°
HPBW / vertical 50°
Front-to-back ratio 15 dB
Downtilt 0°

Power handling 50W (cw)
Impedance 50 Ohms
Connector N Female or SMA Female

Environmental & Mechanical Specifications

Survival wind speed 180 km/h

Temperature -40°C to +80°C
Humidity 100% @ 25°C
Lightning Protection DC Ground
Radome Colour Grey-white

Radome Material ABS/UV Resistant,  
Fire Retardant

Weight 0.7 kg
Dimensions 345 x 87 x 48 mm

High Gain Directional Panel Antenna
for  2.4 ISM Band� � � � �              

SA2-05009-NO

Electrical Specification             

Frequency range               2400MHz - 2500MHz

Gain                                  18 dBi

VSWR                               1.5

Polarization                        Linear, vertical 

HPBW / horizontal             15
o

HPBW / vertical                 15
o

Front to back ratio              26 dB

Downtilt                              0
o

Power handling                  50 W (cw) 

Impedance                         50 Ohms

Connector                          N female

Environmental & Mechanical Characteristics

Survival wind speed         180 km/hr

Temperature                     - 40
o 
C to +80

o 
C

Humidity                           95% @ 25
o
 C

Lightning protection          DC ground

Radome color                   White

Radome material              ABS, UV resistant

Housing material              Galvanized Iron

� � �    Fire retardant

Weight                              1.6 kgw

Dimensions                      360 x 360 x16 mm

Version 1.0

: 1 Max.

ETSI standard                    EN 301 525 V1.1.1

                                           (2000-06) CLASS TS3 

3/4" screw - 4 pcs
Plastic wallplug  - 4 pcs

M6 S/W - 4 pcs
M6*16 screw  - 4 pcs

M6 W - 4 pcs

M4*8 screw+W+S/W - 4 PCS
Space keeper - 4 pcs
M-shape mounting - 1 pc

Mounting base - 1 PC

6

4

5

3 1 2

9 8 7

1
2
3
4

5
6
7
8
9

4 M-shape mounting - 1 pc

M6 S/W - 4 pcs
M6 W - 4 pcs

M6*16 screw  - 4 pcs

Pole mount clip - 1 pc
M6*60 screw - 2 pcs

7

8

9

6

5

M4*8 screw+W+S/W - 4 PCS
Mounting base - 1 PC

Space keeper - 4 pcs

1

3

2

3 1 2

9 8 7

4

6

5

Mounting Configuration

http:// www.smartant.com    TEL: +886 (0)3 578-3188    FAX: +886 (0)3 578-3189   E-mail: service@smartant.com     
All right reserved by SmartAnt Telecom Co., Ltd.

P1

High Gain Directional Panel Antenna
for  2.4 ISM Band� � � � �              

SA2-05009-NO

Electrical Specification             

Frequency range               2400MHz - 2500MHz

Gain                                  18 dBi

VSWR                               1.5

Polarization                        Linear, vertical 

HPBW / horizontal             15
o

HPBW / vertical                 15
o

Front to back ratio              26 dB

Downtilt                              0
o

Power handling                  50 W (cw) 

Impedance                         50 Ohms

Connector                          N female

Environmental & Mechanical Characteristics

Survival wind speed         180 km/hr

Temperature                     - 40
o 
C to +80

o 
C

Humidity                           95% @ 25
o
 C

Lightning protection          DC ground

Radome color                   White

Radome material              ABS, UV resistant

Housing material              Galvanized Iron

� � �    Fire retardant

Weight                              1.6 kgw

Dimensions                      360 x 360 x16 mm

Version 1.0

: 1 Max.

ETSI standard                    EN 301 525 V1.1.1

                                           (2000-06) CLASS TS3 

3/4" screw - 4 pcs
Plastic wallplug  - 4 pcs

M6 S/W - 4 pcs
M6*16 screw  - 4 pcs

M6 W - 4 pcs

M4*8 screw+W+S/W - 4 PCS
Space keeper - 4 pcs
M-shape mounting - 1 pc

Mounting base - 1 PC

6

4

5

3 1 2

9 8 7

1
2
3
4

5
6
7
8
9

4 M-shape mounting - 1 pc

M6 S/W - 4 pcs
M6 W - 4 pcs

M6*16 screw  - 4 pcs

Pole mount clip - 1 pc
M6*60 screw - 2 pcs

7

8

9

6

5

M4*8 screw+W+S/W - 4 PCS
Mounting base - 1 PC

Space keeper - 4 pcs

1

3

2

3 1 2

9 8 7

4

6

5

Mounting Configuration

http:// www.smartant.com    TEL: +886 (0)3 578-3188    FAX: +886 (0)3 578-3189   E-mail: service@smartant.com     
All right reserved by SmartAnt Telecom Co., Ltd.

P1


